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Note : This paper is of thirty (30) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= rhl ¼30½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions seven and half (7 ) marks each. Learners 

are required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr ¼7 ½ vad fu/kkZfjr gSaA 
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f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Compare the diameter/girth measurement by Tape and 

Calliper and suggest which instrument is superior. 

O;kl ,oa ifjf/k ekiu gsrq Vsi vkSj dSfyij dh rqyuk 

dhft, ,oa dkSu&lk midj.k T;knk mi;qDr gS] crkb;sA 

2. What is standing crop biomass ? Describe the 

important factors that affect the weight of bark and 

wood. 

[kM+h Qly tSoHkkj D;k gS \ Nky ,oa dk”B ds Hkkj dks 

izHkkfor djus okys izeq[k dkjdksa dk mYys[k dhft,A 

3. Explain the term ‗increment‘. Classify different types 

of increment. Discuss the increment percent and 

formulae for determination of increment.  

^laòf)* ‘kCn dh O;k[;k dhft,A fofHkUu izdkj dh laòf) 

dk oxhZdj.k dhft,A laòf) izfr’kr vkSj bldks Kkr djus 

ds lw=ksa ds ckjs eas o.kZu dhft,A 

4. Explain standard deviation in detail with suitable 

examples. 

ekud fopyu dks mfpr mnkgj.k lfgr foLrkjiwoZd 

le>kb;sA 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of two and half (2 ) marks each. Learners 

are required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ ¼2 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

Discuss the following in brief : 

la{ksi esa mŸkj nhft, % 

1. Topographic survey. 

VksiksxzkfQd losZ{k.kA 

2. Huber‘s formula. 

áwcj lw=A 

3. Bloome-Leiss Hypsometer. 

Cywe&yht fgIlksehVjA 

4. Use of Abney‘s level for tree height determination. 

o`{k dh Å¡pkbZ ekius gsrq ,cuh ysoy dk iz;ksxA 

5. Forest enumeration. 

ou x.kukA 

6. Forest Mensuration. 

ou ekfidhA 
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7. Yield tables. 

izkfIr lkjf.k;k¡A 

8. Measurement of bark thickness. 

o`{k Nky dh eksVkbZ dk ekiuA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of half ( ) mark each. All the questions of 

this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk ¼ ½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Haga Altimeter is used to measure the diameter of 

trees.    (True/False) 

gkxk ,YVhehVj dk bLrseky o`{k dk O;kl ekius gsrq gksrk 

gSA    ¼lR;@vlR;½ 

2. The increment put on by a tree or a crop in a single 

year is known as M. A. I. (True/False) 

o`{k ;k Qly }kjk ,d o”kZ eas dh x;h laòf) dks  

,e- ,- vkbZ- dgrs gSaA   ¼lR;@vlR;½ 
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3. 
X

X =
N

 is a formula used for determining the mean of 

a sample.   (True/False) 

X
X =

N
 lw= fdlh Hkh uewus dk ehu ¼vkSlr½ Kkr djus 

ds fy, iz;ksx fd;k tkrk gSA   ¼lR;@vlR;½ 

4. The unmerehantable portion of the tree stem or log is 

called cull.  (True/False) 

rus ;k yV~Bs ds fcØh v;ksX; Hkkx dks dy dgrs gSaA  

    ¼lR;@vlR;½ 

5. Stump analysis is done to determine the diameter of 

trees.    (True/False) 

Bw¡B fo’ys”k.k o`{kksa dk O;kl Kkr djus ds fy, fd;k tkrk 

gSA    ¼lR;@vlR;½ 

Choose the correct alternative. 

lgh fodYi dk pquko dhft,A 

6. In case of measurement through tape the error is 

always : 

(a) Positive 

(b) Negative 

(c) Both positive and negative 

(d) None of the above 

Vsi }kjk ekiu eas =qfV lnSo gksrh gS % 

¼v½ /kukRed 

¼c½ _.kkRed 

¼l½ /kukRed ,oa _.kkRed nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 
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7. Crop height is measured by which formula ? 

(a) Smalian formula 

(b) Heyer‘s formula 

(c) Lorey‘s formula 

(d) Von Mantel‘s formula 

ØkWi gkbV fdlds lw= }kjk ekuh tkrh gS % 

¼v½ LeSfy;u lw= 

¼c½ gs;j lw= 

¼l½ ykWjht lw= 

¼n½ oSu eSUVy lw= 

8. Those yield tables in which data are given for different 

grades of thinnings is known as :  

(a) Single yield table 

(b) Volume yield table  

(c) Money yield table 

(d) Multiple yield table 

ftl mRiknu rkfydk esa fofHkUu Lrjksa ds fojyu dk vk¡dM+k 

fn;k tkrk gS] mUgsa dgrs gSa % 

¼v½ ,dy mRiknu rkfydk 

¼c½ vk;ru mRiknu rkfydk 

¼l½ /ku mRiknu rkfydk 

¼n½ cgqmRiknu rkfydk 

9. Artificial form factor is also known as : 

(a) Absolute form factor 
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(b) Normal form factor 

(c) Breast height form factor 

(d) All of the above 

vizkd`frd QkWeZ QSDVj dks ;g Hkh dgrs gSa % 

¼v½ fu;r QkWeZ QSDVj 

¼c½ lkekU; QkWeZ QSDVj 

¼l½ o`{k Å¡pkbZ QkWeZ QSDVj 

¼n½ mi;qZDr lHkh 

10. The distance between ground level and crown point is 

known as : 

(a) Commercial bole height 

(b) Bole height 

(c) Total height 

(d) Crown height 

tehu dh lrg ls N=d Çcnq rd dh nwjh dgykrh gS % 

¼v½ O;kolkf;d cksy Å¡pkbZ 

¼c½ cksy Å¡pkbZ 

¼l½ dqy Å¡pkbZ 

¼n½ N=d Å¡pkbZ 
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